English

Hdiuﬂu&ﬁmkmE:\gM\wlwmgmﬂwymudmlmkzduﬁowiopwofFlomm\d
Insects. Duwlikzhmwg? Wzllﬂwswezk%oumgmngiubmnzwpﬂ\bsmhawbz%
makzwm}wwﬂwhmwég,@bsmdwstabeﬁoldmshopﬁl I have learnt a lot this
Task |

Learning objective: to record ideas about a topic.

Your fust job is fo make a mindmap to show what you know- about bees and honey. A

mindmap has a titile/heading in the middle and your ideas around the edge. Try to include
Use your letter sounds to help you to record your ideas. Sound any words, you want to

Watch it all the may through first of all so you can learn about the information. We mAll
watch it again later in the mreek. Once you have finished, add any more things you have
learned about bees and honey to your mindmap. Y.ou could use a different colour pen or

https://www.bbc.co.uk/teach/class-clips-video/geography-ks1-how-honey-is-made/z7i76v4

Task 2
memwmmamm—mm%mmmw Y ou
nmdiﬂhﬁfmmdmﬂfdﬂm{gfuﬂgiﬂﬂwmdwbdow Ii:’/sadiﬁer\axtmztc%@studog’/s. I
Tmmwmumhwmmﬂmm me&oumwnb@r,a
the book.


https://www.bbc.co.uk/teach/class-clips-video/geography-ks1-how-honey-is-made/z7j76v4

Here are the key words I would like you to listen out for and to explain in your own mwords
ofterwards:

«  Honey hee

e Nectar

e Worker hee

. A crop

. Honeycomb

Only recently I hare begun to enjoy honey, but after learning more about i, I may bhe
changing my mind again. Do you know why? Watch carefully and see if you can mork

https://www.youtubekids.com/watch?v=AECtOFpbgVs (How do bees make honey?)

Task 3

time. You can use numbers and arrows to show- the order of how- the steps are followed, a
bit like a recipe ond also how- recorded how- paper is made. Can you remember?

You can mwatch both of the mideos again, if it helps, but the second one, I think, explains the
process. the best.

the honeycomb sections in the frames. You could stop and start the sideo to help you
remember the stages and fo record them in order.

Task &

Learning objective: to create a flow chart showing the process of how honey is made
using key words and phrases.

This session continues from the premvious session. Today you mwill learn how- the honey is
removed from the hive and put into jars. The wvideo that I found is based on a small-scale


https://www.youtubekids.com/watch?v=AECtOFpbgVs

wxplmnﬁitdw{%}ormtomdu‘si‘and Ihopzwﬂwﬁl Rmmbﬂ,mwmtdx,
mwmmmMTnh@wmmmmm

https://www.youtube.com/watch?v=xnhmxNoo4EY (How to harvest honey!)

Task 5
meplamhmtwtrwxim Thmkmnqpxlhat,it’/sawghid%bu&m! Hameaga!

PSHE

and stories and extracts. Have a look, I hope you enjoy, but I aso want you to take a look
at the poem on page 36, it's called: ‘Say Something Nice’. Harve a read ond see how makes

you feel? Could you say something nice to someone in yowr family? Have a go, I'm sure
you could make someone smile!

https://literacytrust.org.uk/family-zone/9-12/book-hopes/  (Say Something Nice, page 36)

Dm’th,Mis&B;mk&delove&dngwphowgluph&,MidwsmdpimofWk
szdli?ywb@sti:o/s/wl‘e/som,ethmg/spwalwd“hwm T,ap,exsbyfth/w‘eak.

Remember — to keeping smiling!


https://www.youtube.com/watch?v=xnhmxNoo4EY
https://literacytrust.org.uk/family-zone/9-12/book-hopes/

Maths

In response to some questions, the maths activity sheets are labelled at the bottom ‘D, E and GD’

D - Developing. This is for the children that are not working at the expected level for their age and need
some extra support.

E— Expected. This is for the children working securely at the expected level. This is where we would ex-
pect all children to be working at this time of year.

GD- Greater Depth. This is for the children that are able to push forward and challenge themselves to
working slightly above the expected level.

These levels have been discussed at parents evening but if you are unsure which level your child should
be working at then please contact us. Of course, you can also make your own judgements and try the chil-
dren on which ever level you think they can cope with. If you feel they can challenge themselves, then go
ahead. If not, please take a step back and take your time. There’s no rush!



Varied Fluency

Step 4. Make Arrays

National Curriculum Objectives:

Mathematics Year 1: (1IN1b) Count in multiples of twos, fives and tens

Mathematics Year 1: (1C8) Solve one-step problems involving multiplication and division, by calculating the answer

using concrete objects, pictorial representations and arrays with the support of the teacher

Make Armrays

Make Armrays

Ta.

Thiere are |:| apples in each row.

Thers are I:l [OWS.
M

%y .

1b.
[l . [ il
2 2 2 2 %
[l . [ ol
% % % % ]

There are I:l pears in each column.
There are I:l columns.

M
"-L:_,:"' WF

2a. There are 2 counters in each column.
There are & columns. Drow the amay.

M
e W

2b. There are 2 couniers in each row.
There are 4 rows. Draw the amay .

L
o

3a. complete the calcvlaticns.

There are 2 counters in each row. There
are 3 rows.

+ + =

There are 2 counters in each colvmn.
There are 4 columns.

+ ¥

e
=

hIT -

ib. complele the calculafions.

There are 2 counters in each row. There
are & rows.

LU

There are 2 counters in each colvmn.
There are 3 columns.

+ ¥ =

44g. Use the buttons to make an aray
represenfing2 +2+2+2+2=10

@ ©
o
®¢ o 00

4b. Use the bufons to maks an array
represenfing 2+ 2+ 2= 4.

- —

|_F
F

& : , )




Make Armrays

Make Armrays

apples in each row.

FMWS.

% .

EYYYYY
TELYY

There are pears in each column.
There are columns.
oy

&T

&a. There are 2 counters im each column.
There are & columns. Draw the array.

o ey
1 -

&b. There are 10 counfers in each row.
There are 4 rows. Draw the amay .

l'“ﬁ
T
=

7Ta. Complete the calcwlafions.

There are 10 counters in each row. There
are 3 rows.

+ + =

There are 2 counters in each column.
There are 2 columns.

7b. Complete the calcuvlafions.

There are 2 counters in each row. Thers
are 4 rows.

+ + 1 =

There are 10 counters in each column.
There are 3 columns.

+ = + + =
"-.::.-" W ‘-T;:»‘ W
8a. Use the buttons to make an aray 8b. Use the buttons to make an array
represenfing2 +2+2+2=8. representing 10 + 10 = 20.
D @ @ Qo o CY Ay
A AP 00 0099
“-._-'l A e 0- 0 0‘ é
\ \ o
1!__? W "-‘-_J'" WF




Make Armrays

Make Ammays

B T T T 1

IIT L
*PPP9
*PIPP

apples in each row.

There are

Thers are TS,

(XXXXXXY
(XX XXXXY

There are

pears in each column.

There are columins.

YT

10a. There are 10 couvnfers in each
column. There are 3 columns. Draw the
amay

10b. There are 5 couvnbers in each row.
There are & rows. Draw the amay.

L i

11a. Complele the calculafions.

There are 5 counters in each row. There
are 3 rows.

+ + =

There are 10 counters in each column.
There are 4 columns.

+ + + =

11b. Complete the calculations.

There are 2 counters in each row. Thers
are & rows.

+| [+ [+]| [+| [+]| [=

There are 5 counters in each column.
There are 3 columns.

+ +

T

12a. Use the bultons to make an array
represenfing 5+ 5+ 5 =15

Q*ﬁ: 33

12b. Use the buitons fo make an array
represenfing 24+ 2+ 24242 =10.

= ,.-:':-Hlxq_ a-':::'*-.l el
< ()




Varned Fluency
Make Ammays

Developing
1a. There are 2 apples in each row. There
are 4 rows.

2a. 00000
CO0000

JO02t+2+E=4
2+2+2+2=48

- $3888 -

Expecled
5a. There are 10 apples in each row.
There are 3 rows.

da. OOOQOO00
Qo000

O 10+ 10+ 10 =30

2+2=4 G
g™ ey

.r_?-h,.l .r_?-h,.l .-'_q"_'hl .r_?-,-l F .:"\.":- ‘:I"'\.

8a. = X ':.H| 4 ar "=

g

o o S L LAy
g

'ﬁ-i-‘a':'

fa. There are 5 apples in each row. There
are 4 rows.

(IEICI
10a. 'S

QOO0CO000C
Q00000000
QO00C000

1Ma.55+5=15
10+ 10+ 10+ 10 =40

Vared Fluency
Make Amays

Developing
1b. There are 2 pears in each column.
There are 5 columns.

2b. O

o0

o0

20
ib.z+2+2+2+2+2=12
2+3+2=4

.ll:l.hlll.:lml

ab. =) @G or 'ﬂ"::"i

.ﬂ'_:_-h..l .-'_;_'-I .ﬁ ':.\_':'__I'._":'__l'

N C'C
Expecied

5b. There are 2 pears in each column.
There are & columns.

&b. QOO0000000
CHO O 0000

QOOOCO0DO00
COOOCO0OC0

Th.2+2+2+2=8
10+ 10+ 10 =30

. SO0Vt

Greater Depth

¥b. There are 2 pears in each column.
There are 8 columns

. OO0
00000
COOQ0
OO0O0
OO000
o000

1Mb.2+2+2+2+2+2=12
5+5+5=135

{2M=>
(242>
&
&

o0




rReasoning and Problem Solving

Step 4: Make Arrays

National Curriculum Objectives:

Mathematics Year 1: (1N1b) Count in multiples of twos, fives and tens

Mathematics Year 1: (1C8) Solve one-step problems involving multiplication and division, by calculating the answer

using concrete objects, pictorial representations and arrays with the support of the teacher

Make Amrays

Make Armays

My amay has 5 columns

with 2 in each colummn. |

will need 7 counters fo
make it.

g%

Is Heike comect? Explain your aonswer.

g

1k

I hiave 15 counbers. | can
make an amay with 2 in

each row using all the
counters.

»

i Caleb comect? Explain your answer.

|

2a. Complete the amay.
e,

-

7

2b. Complete the amay.

|97

Sa. Which is the odd one oul? why?

3b. which is the odd one out? why?

There are 2
apples in each
row. There are 4

MOWS.

Z2+2+T=4

There are 4
pearsin each
row. There are

4 [OWE.

2+2+2+2=8

Lo a2
L4 2 22

(1LY
(1YY




Make Amrays

Make Amays

My amay has 3 columns
with 2 im each colummn. |
will need & counters to
make it.

Is Alisha comect? Explain your answer.

I hawve 10 counters. | can
make an aray with 5 in
each row.

EHI.

Is Edward comeci? Explain your answer.

|

5b. Complete the array.

Eiy
£a. Which is the odd one oul? why?
There are 10
apples in each
10+10 =20 rmpfﬂmfenres
' IE XX RN RN N
PIPPPPIPPIOO
' TR X R LA NN N

&b. Which is the odd one oul? Why?

There are 5
pears in each
row. There are 3
TOWSs.

2+2+2=4

(33X
1l
(XXX




Make Amays

7o

My array uses 8 counfers
and has 1 more column
than row. it has 2 in each

TOW

Is Henrick comect? Explain youwr answer.

I hawve 15 counters. | can
make an aray with 5 in
each row but not 5 in

each coluvmn.

Is Fhoebe comect? Explain your answer.

B =
Ba. Complete the amay. ab. Complete the array.

M A

= 1h=

fa. Which is the odd one oul? why? #b. which is the odd one oul? Why?

There are 5 Th
5+5+5+5=20 | applesineach ere are 5
column. calumns.
iii ** There are 5
PPP PP | opplesin each 2+2+3+2+2 There are 2
PP row. =10 le;;JI each
column

PSP

B

b=




Reasoning and Problem Solving
Make Amays

Developing
1a. Heike is incomect, she will need 10
cuunlers te make her amay.

= @
() (o

o g SO R

3a.2 + 2 + 2 = & The calculation is the odd
one out as it only adds up fo &, nof B

Expecied

4qa. Alisha is imcommect. She would onby
need & counfers for 3 columns; 2+2+ 2=
-E.-

“DeeR6

' g’ agt e N

g g gt lepd e

&0. The calculafion is the odd one ocuf as i#
only adds vp to 20, not 30.

zreater depth

7a. Henrick is mcommect, his array has 2 in
each column and as there are & counters,
fhere muest be 4 columns, not 3.

ba (@) (@) (@) @) @)
I
@@ EE @
0000

7a. The column stofement is the odd one
out as there are §in each row.

Reasoning and Problem Solving
Make Amays

Developing
1b. Caleb is incaorrect, he would nesd an

even number of counters fo make an
array with 2 counters in each row.
2b.

3b. There are 4 pears in each row. There
are 4 rows. The stafements are the odd
one out as it describes 4 rows of 4.

Expecied
d4b. Edward is comect. He would have 2
rows if there are 5 counters in each row.

i
*
L

TSI EE

s nd
CREE LA

4b. The calculafion is the odd one ouf as #
only adds up fo &, not 15.

Greater Depth

7b. Fhoebe is incorrect. Using 15 couwnfers
she couvld make an amray with 5 counters
im each row (3 rows) or 5 counters in each

column (3 columns).

+ 44N I
}++++*+++;

*. *.
*. *
¥ .

#b. The array is the odd one out as the
ofher stotements all mafch 5 columns.



Varied Fluency

Step 5: Making Doubles

National Curriculum Objectives:

Mathematics Year 1: (1C4) Solve one-step problems that involve addition and subfraction, using concrete objects and

pictorial representations, and missing number problems

Mathematics Year 1: (1N1b) Count in multiples of twos, fives and tens

Making Doubles

Making Doubles

1a. What is the double of these objects?

L g
v ¥

1b. Whiat is the douvble of these objects?

7

2a. Complete the missing dovbles from
this table.

Double 2 4
Double 3
Diouble 4 ]
Dowble 5

W

2b. Complete the missing dovbles from
this tabile.

Double 1
Double 4

Double 5

Double 5

T

3a. match the dovbles using these
pictures.

&ﬁ& 23
PP 9
0P $66

3b. Mmatch the douvbles wsing these

Gyé 90000
% oo00¢

> &8

4g. Complete these number sentences.

Double 2 s

o

o

db. Complete these number sentences.

rouble 3 is

eee

Double




Making Doubles

Making Doubles

5a0. What is the double of these objects?

e
LY Fa

=l

5b. What s the double of these objects?

7

=

&a. Complete the missing dovbles from
this table.

Double & 12
Double 8
Dovble 10 20
Double 7

A
LY Fa
]

|+

&b. Complete the missing doubles from
this table.

Double ¥
Douvble & 12
Douvble & 14
Double 10

7a. match the doubles using these

oo /]
i

e
33333

I
g
|

333

?b .I-l.u’rch the doubles vsing these

Py
000"

Ba. Complete these number senfences.

Double 5 is

Double is 12

. 900000
i

8b. Complete these number sentences.

Double 7 is

Double i5 1&.

20000000

14




Making Doubles

Making Doubles

fa. What is the double of the given

nwrrn ber ?

fb. What is the double of the given

nwm bar?

10a. Complele the missing doubles from
this table.

Double nine

Couble 5

Douvble seven

Double 10

10b. Complete the missing doubles from
this table.

Double &
Double four

Double &

Double nine

11a. Match the pictere fo its dovbled
number.

0000
OOV
Four

11b. Match the picture fo ifs dovbled
num ber.

o W W W

- " -
. W W W

nine
YYY 18
: 16

12a. Complefe these number senfences.

A, Douvble seven is ;

B. Dovble is 14.

. Double is twelve,

12b. Complefe these number senlences.

A, Dovble eight is :

B. Double is ten.

. Double is 8.




Varned Fluency
Making Doubles

Developing
1a. &

2a. bovble 3is &, Double 5is 10
3a. Raspbemies and strawbemies.
Cranges and pears.

4a. Dovble 2 is 4, Double 415 B.

Expeched
S5a. 1&

4a. Double 8 is 14, Dovble 7 is 14,
7a. Raspbemies and pears.
Cranges and camols.

8a. Double 5is 10, Dovble & is 12

izredater Depth
fa. 12

10a. Dovble nine is 18, Double 5 i 10,

Douvble seven is 14, Double 10 is 20.
114a. 14

12a. &. Dovble seven is 14

E. Double 7is 14.

C. Double & is hwelve.

Vared Fluency
Making Doubles?

Developing
1hb. &

Zb. Double 1 is 2, Double 3 is &.
3b. Orange and pineapples.
Apples and strawbemies.

4b. Dovble 3 is &, Double 215 4.

Expecied
5b. 20

&b. Dowble % is 18, Dovble 10 B 20.
7b. Coconuts and oranges.
Shrawbemies and apples.

8b. Double 7 is 14, Double 8is 14,

zreafer Depth

*h. 14

10b. Dovble 8 B 14, Dovble four is &8,
Dowble & is 12, Dovble nine is 16.
11b. 18

12b. A. Douvble eightis 14.

E. Dovble 5 i fen.

. Double 4 is &.




Reasoning and Problem Solving -Making Doubles

National Curriculum Objectives:

Mathematics Year 1: (1C4) Solve one-step problems that involve addition and subiraction, using concrete objects and
pictorial representations, and missing number problems

Mathematics Year 1: (1IN1b) Count in multiples of twos, fives and tens

— = o — — 1+
Making Doubles Making Doubles
Ta. Della buys a jar of sweets. Bach jar 1b. Ted bwys a jar of sweets. Each jar has
has 4 sweels inside. How many sweets will | 5 sweels inside. How many sweets will he
she have f she buys 2 jars? hawve i he buys 2 jars?

|
L
-l

i
Explain your answer. ) Explain your answer. -

# |

2a. Find the ermrors in these calculotions. 2b. Find the emrors in these calculafions.

Dovble 2 =4 Double 4 =10
® 9
Dovble 5 =% Douvble 5= &
o o099
Dovble 3=8 Douvble 2=5
N
Dovble 1 =2 Double 5 =10
.
3a. Complete the dovbling number 3b. Complete these dovbling number
sentences. sentences.
Dovble 1 is 2. Douvble 2 s 4.
Double 2 is 4. rouble 5is 10.
Double 3 is &. Douvble 5 is )
Dovble 4 is 8. pouble 1is 2.
Double 5 is Double 4 s 8.
Explain how yvou know. Explain how you kmow.

e |1 ..




Making Doubles

Making Doubles

4a. Al buys a jar of sweels. Each jar has 7
sweels inside. How many sweels will he
have if he buys 2 jars?

Explain your answer.

T
-1

4b. Alice buys a jar of sweels. Each jar
has 8 sweels inside. How many sweets will
she have if she buys 2 jars?

4 b

Explain your answer.

e
L=y

4. Find the emors in these calculations.

Double 8 = 14

>SS
L R N X

Double & =12

& & &
oS

Double 5=1
e,

Dovble 10 =1%

*eSee
LA K N I

7

5b. Find the emors in these calcwalions.

Double 7 =

1338

Double 7 =14

Y
sen®

Double 5 =10
l-ll.,
L R ]
Double 4 =13

& &
*ee

. |7

&a. Complete these dowbling number
senfences.

Dovble & s 12.
Dovble 7is
Douvble 8 is 14.
Dovble Fis

Double 100s

Explain how you know.

&b. Complete these doubling number
senfences.

Doukble 5is

Double & is 12.
Double 7 is 14.
Double 8 is

Double 7 is

Explain how you know.

yir




Making Doubles

Making Douvbles

7a. Sarah buys two jars of sweeis.

Each jar has 7 sweels
inside. How many
sweets will | have if |

buy 2 jors?

Explain your answer.

7b. James buys two jars if sweeis.

Each jar has 7 sweels
inside_ How many
sweebs will | have 1
buy 2 jors?

-
-

Explain your answer.

Ba. Find the emors in these calculations.

Douvble 8 =18

CDouble seven = 14

Double 10=1%

Douvble four = &

db. Find the emars in these calculalicns.

Dovuble three = 6

Dovulble =18
Double six = 16
Dovble 5 =25

fa. Complete these dovbling number
senfences.

Double ten is
Double 7 is )
Dovble ¥ is 18.

Double six is

Double fowr is

Explain how you know.

#b. Complete these doubling number
sentences.

Double three is )

Douvble 10 is 20.
Double eight is .

Double nine is )

Double & is )

Explain how you know.




Eeasoning and Problem Solving
Making Doubles

Developing
1a. Della will have & sweels because

double 4 s 8.

2a. Dovble 3 s & (not 8) and Double 515 10
(not 7).

3a. Douvble 5is 10 because 5+ 5= 10,

Expecied
dg. Ali will have 14 sweets bacause

douvble 7is 14.

5a. Dovble 55 10 (nof 11) and Dovble 10
is 20 (nof 17)

40. Dovble 7 is 14 because 7 + 7= 14.
Douvble ¥ is 16 becauwse ¥ + ¥ = 16.
Double 1005 20 because 10 + 10 = 20.

Greater Depth

7a. 5arah has 18 sweels because § + §=
18.

8a. Dovble 85 14 (nof 18).

Dowble 100s 20 [not 17).

Douvble fouwr is 8 (not &).

#a. Dovble ten is 20 because 10 + 10 = 3.
Douvble 7is 14 becauwse 7+ 7 = 14.

Double sixis 12 becaouse & + &= 12,
Douvble four is 8 because 4 + 4 = .

Reasoning and Problem Solving
Making Doubles

Developing
1b. Ted will have 10 sweeals because

double 5 5 10.

2b. Dovble 4 is 8 [not 10) and Dovble 205 4
(not 5)

3b. Double 3is & because 3+ 3 =&,

Expecied

db. alice will have 14 sweels. Double § is
14.

5b. Dovble 7 is 18 (nof 20) and Dowble & is
12 (nof 13).

&b. Double 5is 10 because 5+ 5= 10.
Double B is 1& because 8 + 8 = 1&.
Double 7 is 16 because ¥+ ¥ = 16.

Gregter Depth

7hb. James has 14 sweefs because 7+ 7=
14.

8b. Dovble six is 12 {not 1&).

Double 5 is 10 nof 25.

#b. Dovble three is & becaouse 3+ 3 = &,
Dowble eight is 14 because 8 + & = 14,
Double nine is 16 because ¥ + ¥ = 16.
Double & is 12 because & + 6 =12,



Varied Fluency

Step 6: Make Equal Groups (Grouping)

National Curriculum Objectives:

Mathematics Year 1: (1N1b)Count in multiples of twos, fives and tens

Mathematics Year 1: (1C8)Solve one-step problems involving multiplication and division, by calculating the an-

swer using concrete objects, pictorial representations and arrays with the support of the teacher

Malee Equal Groups [ Grouping)

Make Equal Groups {Grouping)

1a. Tree or false? There are 3 equal grovps
of 5 counfers.

Y

1b. Tree or false? There are 2 egual groups
of 5 apples.

Irxrxria
rrrrxa

o ,

2a. Fill in the blanks.

There are equal growps of
houses.
[ AN TN ]
i
[ AN AN ]
| ]

2. Fill in the blanks.
There are equal groups of
fish.

Errrrr
D HED IR IR I

< .

3a. How many equal grovps of 10 Aowers
can you makse?

00 & O N O O O 3 0
A R N 3 A R N 8 N

w7

3b. How many equal grovps of 2 counters
can you make?

1
o0
@0
@0

7 .

4q. Circle the comect stotement to match

90000

4b. Circle the comect statement to match
the image.

33448,

000400

A1EAL.

A c. A .
There ore 2 There are 4 There ome 5 There are 2 There are & There are 2
squal egual equal agual squal agual
groups of § groups of groups of § groups of 4 groups of 2 groups of §

Y

‘E';],




.

Malke Equal Groups { Grouping)

Make Equal Groups (Grouping)

1+

5a. Trve or false? There are 4 equal groups
of 5 fish.

l 4 & 8
| & ¢ e e e
[ i & & & §i=

| e 0 0 2 4

—'-'.\—
g

5b. Trve or false? There are 8 equal groups
of 2 Aowers.

~
Loy
%
3%

r. -5

2] (3 3¢

B

e

3%
~
\is

Tigd

=

&a. Fill in the blanks.

There are equal grouvps of
flowers.

17

&b Fill in the blanks.

Ez:re equal groups of
190)00)00)90)29 |
There is leftover.

7a. How many equal grovps of 5 bananas
can you make?

.

1
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7b. How many equal grovps of 2 animals
can youw make?
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da. Circle the comect statement to match
the Image. . .~ . 2

ab. Circle the comeact statement to match

the image.
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There are 4 fhers are 4 There ore 4 equal growps squal groups wgual growps
equal egual equal of Zand 1 of 2and 1 of &and 1
growps of & groups of 2 groups of & leffover letiower befiover
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Maoke Equal Groups {Grouvping)

Make Equal Groups {(Grouvping)

fa. Trve or false? There are 2 equal groups

?b. True or false? There are 5 equal groups

of 5 coconuts. . . of 5 fish. 'ﬁ} '& + 'ﬁ_; ﬂJ
4 . N F =\ 1-—‘&«
el S o
¢ ¢/ 00 |25 725"

_"_k d ) — (=& = Py & i

child;; H Eg'ﬂ ? E Flowers.

R SR

There are children leftover. leftover. %@

i

11a. How many equal groups of 5 leaves

can you make? #
' = g
S e /7 - g
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11b. How many equal grouvps of 10
animals can you make?
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12a. Circle the comect statement to
mafich the image.

12b. Circle the comect stotement to

match the image.
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A There ore 2 B. There ore & C. There ore £
equal groups equal groups equal groups
od Tand 1 of 2 and 1 of S and 2
letower lefover lettover

& Thers are B There are & C. Thare are 3
10 equal equal groups egual growps
groups of 2 ofdand O of & and 3

ard 1 lefover lettover befover




Varned Fluvency

Make Egqual Groups (Grouping)

Developing

1a. False, there are 4 equal grouvps of 3
counfers.

2a. There are 2 eqgual groups of 2 houses.
3a. 2

40. A

Expecled
5a. False, the first grovp only has four fish
im, ot frve.

4a. There are 3 equal grouvps of 10 flowers.

7a. 2. There are 3 bananas leffover.
fa. C

Zreater Depth

7a. False, there are 5 coconuls in one
group, and & coconuts in the other group.
10a. There are 2 egual groups of 10
children. There are & children leftover.
114. 5. There are 2 leaves leffover.

12a. &

Varied Fluvency
Make Egqual Groups (Grouping)

Developing
1b. Tree

2b. There are 3 equal grovps of 5 fish.
ib. 4
4b. B

Expecled

5b. True

&b. There are 4 equal groups of 2 leaves.
There is one leaf leflover.

7b. 15

8b. &

Grealer Depth

#b. False. There are & equal grouvps of 5
fish.

10b. There are 13 equal grovps of 2
flowers. There is one flower leftover.
11b. 2. There is 1 insect leflover.

12b. B




Reasoning and Problem Solving

Step 6: Make Equal Groups (Grouping)

National Curriculum Objectives:
Mathematics Year 1: (1N1b)Count in multiples of twos, fives and tens

Mathematics Year 1: (1C8)Solve one-step problems involving multiplication and division, by calculating the answer
using concrete objects, pictorial representations and arrays with the support of the teacher

Make Egual Groups (Grouping) Make Equal Grovps {Grouping)

1a. Jason has 10 counters. He can group 1b. Cora has 20 counters. She con group
them into 2 equal groups of 5. them into 10 eqgual grovps of 2.

eeew | mEHYEY
@eeee | RN

How could he grovwp fhem to make 5 How could she group them fo make 2
equal groups? equal groups?

He can make 5 equal groups of . she can make 2 equal growps of

2a. Ruby has fewer than 10 bamanas. 2b. arthur has fewer than 15 pineapples.

some are hidden by the splat. some are hidden by the splaf.

i e

'“.
* I can make equdal H | can make equal
grouwps of 2. groups of 5.

A

How many bananas cowld she have? How many pineapples could he have?
3a. Mary has grovped & children info ab. Frances has grovped 168 apples into
equal grouvps of 2. what mistake has she equal groups of 5. What mistake has he
made? made?

g) essees
FYTYYTIY)
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Make Equal Groups (Grouping)

Make Egual Groups (Grouping)

4a. Ellie has 20 couvnters. She can grouwp
them into 2 equal growps of 10.

[cooc000000)
0000000000

How could she group them to make 10
equal grouwps?

She can make equal groups of

A
i

17 .

4b. Moe has 24 counters. He can group
them into 12 equal grovps of 2.

SEEEEE
888 8EE

How could he group them fo make 4
equal grouvps with 4 leflover?

He can make
with 4 leflowver.

Py

equal groups of

5a. Callie has fewer than 25 bulions.
Some are hidden by the splat.

| con make equal
ey groups of 5.

How many bullons could she have?

e .

5b. Carl has fewer than 15 leaves. Some
are hidden by the splaf.

T
g
g

I can make equal
growps of 2.

How many leaves could he have?
A

1w

&a. Charlie is grovping some apples.
He wants to make 7 equal grovps of 2.
Does he have encugh apples?

&b. Frankie is grouping some Howers.
She wanis to make 3 equal groups of 5.
Does he have enough flowers?

3 33 3 3% 3¢
3 3 3 3¢

3¢




Make Equal Groups (Grouping)

Make Equal Groups (Grouping)

7a. Saragh has 15 counters. She can group
therm into 3 equal growps of 5.

[cocad
00009
0000

How covld she grovp them fo make 7
equal grovps? Will there be any leflover?

the can maks
Tt1E-I'E-1|I|I'i| be

equal groups of
leflover.

7b. Ham has 26 couvnters. He can group
therm into 14 equal grovps of 2.

JHUUgUE
JEBBREE

How could he group them to make 5
equal groups? Will there be any leffover?

He con make
T!le-fe will be

iy
f=2y

equal grouvps of
leftover.

8a. Chris has fewer than 40 coconuts.
Some are hidden by the splat.

-

| can make equal
groups of 10.

How many coconuls could he have?

—

- =

ab. Michelle has fewer than 30 foys. Some
are hidden by the splai.

groups of 5.

-‘- 4 I can make egqual

How many toys could she have?
Ty

fa. Rachelle is grovping some fish.
the wanis to make 4 equal grovps of 5.
Does she have encugh fish?

?b. Zock s grovping some leaves.
the wanis to make 2 equal groups of 10.
Does he have enough leaves?




Eeasoning and Problem Solving
Make Equal Groups [ Grouvging)

Developing

1a. Jason can make 5 egual growps of 2.
2a. Euby could have & or 8 bananas.

3a. mary has put the children info 2 groups
not into grovps of 2. $he has mode 2

equal grovps of 3.

Expecied
44, Blie can make 10 equal grouvps of 2.

5a. Callie could have 15 or 20 bubons.
4a. Yes he will have enowgh fo make 7
groups of 2 and there will be 1 apple
leftover.

regter Depth

7a. 3arah con make 7 equal growps of 2.
There will be 1 leftover.

8a. Chris could have 20 or 30 coconuis.
7a. Mo she will nof have enovgh. she
could make 3 egual grouvps of 5 and there
wiould be 4 leffover.

Reasoning and Problem Solving
Malke Equal Groups {(rowping)

Developing
1b. Cora can make 2 equal grovps of 100

2b. arthur could have 10 pineapples.

3b. Frances has put & apples im each
group nof 5. He has made 3 egual grovps
af &.

Expecied
4b. Moe can make 4 eqgual grovps of 5

with 4 leftover.

Sb. Carl could have 10, 12 or 14 leaves.
&b. Mo she will not have enovgh. she
could make 2 egual grovps of 5 and there
would be 4 leffover.

Gregler Depth

7b. Han can make 5 egual growps of 5.
There will be 3 leftover.

8b. Michelle could have 15, 20 or 25 foys.
?b. ves he will have enowgh fo make 2
groups of 10 and there will be 4 leaves
leftowver.




Maths extension.
Many of you have asked for some more maths mork.
that mant it, please be aware that the packs contain a
whole mrecks mworth of maths lessons that me mould

szouldmmmd%ormuamﬂwtmnt&taid&ﬂw

Daily bite-size https://www.bbc.co.uk/bitesize/dailylessons

Oak National Academy https://www.thenational.academy/online-
classroom/



https://www.bbc.co.uk/bitesize/dailylessons
https://www.thenational.academy/online-classroom/
https://www.thenational.academy/online-classroom/

Handwriting.

Some of you have requested handwriting sheets. These are
available to print out via the letter join website but there are 5
included in this pack. They are Year 1 high frequency words to
practice reading and writing.

There are two log-ins that can be used, one for a desktop computer
and another for a tablet.

Desktop — username: ak0599, password: home

Tablet — username: ak0599, swipe code: L
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High Frequency Words
Trace and copy all of the words:

that hot

it

for o

ATRBIS




High Frequency Words
Trace and copy all of the words:




High Frequency Words
Trace and copy all of the words:




High Frequency Words
Trace and copy all of the words:

LA .ni}t

e
ucht what |
EEE———

MMEE

When




Topic—Animal habitats.

Use the sheets provided to make an animal habitat fact file. Don’t
do it all at once! Take your time and spread it out over the week.



Habitat Fact File Activity

Animal name:
Habitat:
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4 Picture or Photo AN Draw something interesting —\'I
about this animal.

meat plants both



Habitat Fact File Activity
Animal: mammal ) bird ) amphibian ) reptile ) fish ()

Name:
Habitat:

o

muupbums
4;&‘:: h% i L
O R O i ?ﬁ-ﬂf-'q
) qu:d's | grasslands
4 AW 4 Interesting Facts A
- AN _/
Types: o 7
o @, © f o {
- @l
herbivore omnivore




Habitat Fact File Activity

Name: Habitat:
Animal (mammal/bird /amphibian/freptile/fish):
4 Picture or Photo N7 Interesting Facts Y
. AN _/
Types:

() COrnIvore () herbivore O oMmnivore
Food it eats:

How it adapts to its environment:




Art.

This week we would like you to choose a medium and make a picture of a flower. You could
use paint, pencils, chalk, felt tips, crayons or even a collage of materials if you like but you
can use anything you prefer.

The weather isn't looking great for this next week which is a shame but if you can get out-
side to do a picture, that would be great. If not, maybe you have some flowers at home in a
vase or in your garden that you could look at through the window.

Whatever you choose is fine. We would really love to see your pictures but there is no obli-
gation. Please email a photo of them to your child class teacher. It would be nice to do a
display when we return.



